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Your grade is A
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Rice
Egg
Cabbage
ProkRib
Carrot
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100 grams of rice has 100 calories.
7 30 grams of egg has 60 calories.
'éf
g 50 grams of cabbage has 50 calories.
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100 grams of carrot has 100 calories.

300 grams of pork rib has 3000 calories.
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Total calories of an economy lunch box are 2800.
... Total calories of a valued-choice lunch box are 3360.
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Total calories of an economy lunch box are 2800
The price of an economy lunch box is 3000.0
Total calories of a valued-choice lunch box are 3360
The price of a valued-choice lunch box is 3848.0
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Is the economy lunch box cheaper than the valued-choice? YES!

T e M e



TR o T gl ok et

i

— XL P P R F’HEIJPDOG _Sjava - ki - B
SaIeReport(éd 8 edk)apn] o R g ahal
Biekr o FRT AR TE o ¥
JPDO6 5.javap sclass JPD06 52 =z z class
JPAO6 5 #45% ¥ 137 2 JPAO6 5. javais 3
FJPAO6 S.class > #75 P 7 3 @ * I

Hle Fprdmeie - BRg

T e M e



TR o T gl ok et

608.

B
1. ] * ArrayList:z
g vfed add-v

2. &3 i

G A B

'L.;El,:-S

-y

B A B e o E A e - BT
e %—Mrﬁ'»d 8 eif F 4 e 1) 3% o

B8 Y B 2 LA

getNumberOfLunchBox :

3. %:
H

- BERE
H LR & getProfit > & o7 gt 5 B 5 3R

8y LE(E B - A ) 2

b

AR N



R
%
A

P

T o T

608. & 4 # B

2 lunch boxes have been sold.
Profit is 1388.
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